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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION,

MARCH 2022
Part — 111 Time : 2 Hours
BIOLOGY Cool-off time : 15 Minutes

(Botany & Zoology) Preparatory Time : 5 Minutes
Maximum : 60 Scores

/ General Instructions to Candidates : \

® There 1s a ‘Cool-off time’ of 15 minutes in addition to the writing time. Further there
1s a ‘S minutes’ ‘Preparatory Time’ at the end of the Botany Examination and before
the commencement of Zoology Examination.

Use the “Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering. |

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
PART -1
A. Answer any 3 questions from 1 to 4. Each carries 1 score. 3x1=3)

1.

ME-526

Observe the relationship of the first pair and fill in the blank.

Restriction enzyme : Cutting of DNA

: Joining of DNA fragments.

Choose the correct answer and fill up the blank.

The single cotyledon of monocotyledons are called

(plumule, radicle, scutellum, coleorrhiza)

Name the association between fungi and roots of higher plants.

Which among the following equation is related with net primary productivity ?

(a) GPP+R=NPP

(b) NPP-R=GPP

(c) GPP+NPP=R

(d) GPP-R=NPP

Answer all questions from 5 to 6. Each carries 1 score. (2x1=2)
Fill in the blank.

Animals that have their DNA altered and express a foreign gene are known as N

Choose the correct answer.

The protective, outer thick wall of the fruits in angiosperms.

(Perisperm, Endosperm, Pericarp, Integument)
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PART - A
BOTANY

(Maximum : 30 Scores) Time : 1 Hour

PART -1
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(a) GPP +R =NPP
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PART -1
A. Answer any two questions from 7 to 9. Each carries 2 scores. (2x2=4)

7. Observe the given diagram showing the process of maturation of insulin.

Proinsulin

- .’ A peptide

s s

5

s Insulin

+ B peptide
w
Free C peptide

(a) Explain the structure of Proinsulin.

(b) What are the changes that occur in Proinsulin when it becomes mature insulin ?

8.  Match the following :

Asexual Reproductive Structures 1 Organisms
| (a) zoospores Hydra

(b) buds Penicillium

(c) conidia Sponges

(d) gemmules | Chlamydomonas

9. MOET is an advanced animal breeding technique for herd improvement.

Expand MOET. Which hormone is used for superovulation ?

B. Answer any two questions from 10 to 13. Each carries 2 scores. 2x2=4)

10. Distinguish euryhaline and stenohaline organisms.

11. In many plants more than one embryo is seen in one seed. Name the phenomenon with

an example.

12.  Write any two points that are important for successful poultry farm management.
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13.

14.

1S.

16.

Given below are the different stages of hydrarch succession.

Forest, marshmeadow, phytoplankton, Reed swamp, submerged free floating stage,

scrub, submerged plant stage.

Write down the pioneer species and climax community. Arrange the stages in correct

sequential order.

PART - 111

Answer any three questions from 14 to 17. Each carries 3 scores. 3x3=9)

The equation of population density is given below,

Ni; =Ng# [(B+1)~ (D +E)]

(a) What does D and E stand for ?

(b) Write two factors which increase the population density.
Increase in the level of green house gases lead to overheating of earths’ atmosphere.
(a) Name the phenomenon.

(b) State any two consequences of this phenomenon.

Observe the given ecological pyramid in an aquatic ecosystem.

Trophic Level Dryweight (Kg m™2)
PC 21
P 4

Identify the type of pyramid and reason out why the pyramid is inverted.

17. Bt-cotton' ié an example of genetically engineered plant. Name the gene responsible for

Bt-toxin production. Explain how Bt-toxin kill the insect.
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PART - I11
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B. Answer the following question. Carries 3 scores. (1x3=3)

18.  Vehicular emission is the major cause of air pollution.
(a) Write four steps taken by Delhi Government for reducing vehicular pollution.

(b) Whatis CNG?

PART -1V
Answer any one question from 19 to 20. Carries 5 scores. (1x5=9)

19. The given diagram depicts the separation of DNA fragments.

Wells

(a) Identify the technique.

(b) How can you visualize the separated DNA fragments in this technique ?

(c) Whatis elution ?

20. Given below is the diagram of a mature embryosac in angiosperm,

Label the parts a, b, ¢ and d.

What is double fertilization ? Mention the ploidy of zygote and PEN.
ME-526 8
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18.

19.

20.
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